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5 E & 7 £
o IFEFEEE  WKVS-X 69 - 960 o BEHE 125
o "tk 695 x L x 60 o ERiEN 600 mm
o RAME fIiEA o X714 /x-WXI-60x9x7. 5
« RTYLY -
* 1% il — Wi Aoy TR P = 100 kN CEwF P = 18 mm
- EmERE i= 0 CWERS L = 4256 mn
-EREEREL-TE P, = 100.0 kN
- BRI E R axb =200 mm x 500 mm
- X[ ERf 0= 595 mm
s RFYUTN—ARARERE 4 = 500 mm

BEME
CRTIVTN——KREBEMBE LTEHET 5,
R A op = 0.180 kN/mm’
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_ PixPg
W= axb
100.0 x 18 _
W *m— 0.018 kN/mm
M:% W x 2 x (20— 21 ) (0> 0mE 0=20)
:%x0.018 x 500 x ( 2 x 595 — 500 )
= 774.7 kN-mm
ok Hh: O
M 7147 . .
(o} —T—W—. 0.182 kN/mm2=0. 18 k N/mm2
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